RM Motor Mount (Ver. 1) 90mmWB
= Assembly Instruction

http://www.rcatomic.com

Package include:

1. Alu. Motor Mount 2.Triangular G-Plate
3.5x3.5mm collar 4.DPS Post

5.M2x4.0 PM screw x6 6.M2x6.0 PM screw x3
7.M2x7.0 PM screw x2 8.M2x6.0 PWB screw x2
9.Spring Collar x2 10.Ride height tuner (H) x2
1.Ride height tuner (L) x2

Compatible option parts list:
AR-147

Mini-Z Titanium Edition

DPS kit for98mm  Wheelbase

AR-181 Adjust.
Rear Shock Set
(for MR-02/MR-015)

AR-015 Atomic Damper Plate System

AR-015-SB Atomic Damper Plate
System (SSG Version)

*P.S. This motor pod fit with RM T-Plate only.

* Different
variation allow
different car height




